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.Forest and Climate Change: organized
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Recently, Ministry of Environment,

“Hariyali Mahotsav” at which place ?
(B) Hyderabad
(D) Mumbai

(A) Bengaluru
(C) New Delhi
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During winter season, the north-east

prevail over the country. They
blow from land to sea and hence, for
most part of the country, it is a dry
season.

(A) Kaal Baisakhi
Loo
Trade Winds

Western Disturbance
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The climate of India is described as the

(A) Summertype (B) Winter type
(C) Monsoon type (D) None of these
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(A) FHu@r (B) ufeasft &g

(C) femrem (D) HEEIT YTTY
The Indian subcontinent experiences
comparatively  milder winters  as

compared to Central Asia due to which
of the following factors ?

(A) The Tropic of Cancer
(B) The surrounding seas
(C) The Himalayas
(D) Ocean currents
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Which of the following places of India
experiences extreme type of climate ?

(A) Chennai (B) Mumbai
(C) Delhi (D). None of these

Frafafea & @ ®F @1 Sl g &
d= Hfify 3w % wem T S 3R
SetaTg gEhh (SECI) ¥ ¥id el s
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(D) 37EAM 3R fFreEr

Which of the following is one of the top
performers in the NITI Aayog’s first

State Energy and Climate Index (SECI)
among UTs ?

(A) Jammu and Kashmir
(B) Lakshadweep

(C) Daman & Diu and Dadra & Nagar
Haveli
(D) Andaman & Nicobar
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What percent of subsidies will Medium
Enterprises receive in their businesses
under the MSME Sustainable (ZED)
certification scheme ?

(A) 80% (B) 50%
(C) 60% (D) 40%

Toaredt wmt &, G wed (s my ok

ST GHT) Hi fatwst = sew
T EHTE iRt STe € |

(A) A ~ (B) WA

(C) dfaum (D) HHHA

In legislative matters, both the Houses

(Lok Sabha and Rajya Sabha) enjoy

almost equal powers except in the case of
Bills.

(A) Money (B) Amending
(C) Constitution (D) Consolidating
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(B) o= (BIMSTEC)
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FORE LR SR S—
(CDRI)

The Union Cabinet approved the
categorization of which institution as an l
‘International Organization’, in June

89.

2022 ?
(A) One Sun One World One Grid l
(B) BIMSTEC : l
(C) International Solar Alliance l
(D) Coalition for Disaster Resilient |
Infrastructure (CDRI) '
8
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Who has captured Singapore Open 2022
women’s singles title ? '
(A) Wang Zhi Yi

(B) Saena Kawakami
(C) Saina Nehwal
(D) P.V.Sindhu

2022 firva st feeg 1 oftm = oft 7

(A) 8 faferm & gham: oft & fore @
ot wfesg 6 3R - e+
e 3k wft & fag arfter 3tk
e ghftaasar

(B) 9 wfgenati 3R wefral & w@reea
- 3R Tl Y e FA % |

(C) =IfIs-19 HEMH T 977 &HAT |
THE | ‘

(D) vﬂanﬁzﬂm@ma:ﬁw%f

What was the Theme of 2022 ‘World
Population Day ?

(A) A world of 8 billion : Towards a
resilient future for.all - Harnessing

opportunities and ensuring rights
and choices for all '

How to safeguard the health and
rights of women and girls now

The impact of the Covid-19
pandemic on fertility :

(D) Family planning i_s a human right

WS A wenhid
(B) sy '

(D) amor
us art work of '
(B) Agra\
. (D) Varanasj .

(B)
©)

_Bfocade is famo
(A) Lucknow
(©) Kanpur
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% Hwe (Cost-of-Living Crisis in
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Which of the following institution released
the ‘Cost-of-Living Crisis in Developing
Countries’ report in July, 2022 ?

(A) World Bank

(B) International Monetary Fund

(C) UNDP

(D) World Economic Forum

frefafea 4 & e o =1 @ S|y
2, ST I o % 8 =i faem R
(A) wifeflargn (B) wee

(C) U= (D) st

Which of the following dance’s origin is
Uttar Pradesh, that is part of 8 form of

classical dance ?
(A) Mohiniattam (B) Kathakali

(C) Kathak (D) Sattriya
TEg e 6 Rl @i w Y,
TE 3R N Rafa =

ST T o A1, (U 1 el & |
(A) =T (B) 4

(©) ?Emia (D) TH :
Maha Kumbh Mela’s date is determined
after astronomically studying the positions
of the Sun, Moon and the .

(A) Mars (B) Mercury

(C) Jupiter (D) Venus

A GO $eeE 2022 % IER,
frferfiaa 4 | form So &1 araae gfvan |
qad viwamed 2 7

Which of the following country’s
passport is most powerful in the world,
as per Henley Passport Index 2022 ?

(A) Japan

(B) Italy

(C) United Kingdom
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|
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(D) United States of America |
9
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(GARPF)' T5itrd & wgeft 3R wia & <ieft
g @ MR gumdin (UsDA)-
U093, 09, (APHIS) & %
s o form g sl et 2
(A) 3™ 3RIAR (B) FewaftIAE
(C) TRMIAR (D) Fa 3fwwd

Gujarat  Agro Radiation Processing
Facility (GARPF) is the first facility in

Gujarat and fourth in India to get this

approval from USDA-APHIS for the
export of .

(A) Mangoes and Pomegranates

(B) Banana and Dragon Fruit

(C) Dates and Grapes

(D) Apple and Oranges

fra oftem anfrl 2w 3 ums aRed
T % IES Yol hI GEATE R 7

(A) g (B) dmr

(C) ifym - (D) wwh

Which West African country has

reported its first outbreak of the deadly
Marburg virus ?

(A) Niger (B) Ghana

(C) Gambia (D) Mali
freafofea & @ #9 @1 mee 2022 &
AT IS 37e BRA 11 1 H9EH 91 7
(A) & (B) Uit

(C) frman (D) et

Which of the following cities was the
host of the World Urban Forum 11 held

in 2022 ?
(A) Toronto (B) Paris
(C) -Geneva (D) Katowice

frafafigs 4 & fom 3w & @ wma 3
JemE 2022 H, p-uRiRfeER 3k
YT HEYUAT & Tdd Y49 T T 6w
U T FEER R 7
(A) s (B) =
(C) icsht (D) WA
With which of the following countries
India signed a joint declaration on agro-
ecology and sustainable management of
natural resources in July 2022 ?
(A) Germany (B) China
(C) SriLanka (D) Japan
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A) feRres (B) TRfs
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Which of the following is not a type of
computer on the basis of operation ?

(A) Digital (B) Hybrid

(C) Remote (D) Analog

i & @ e wet A Swem (379 %)

RFaT e HATer % afd Al 7

(A) i?c'_"“ (B) TR

(C) wIme (D) g

Which of the following city hosted
National Conclave on Kamlam (Dragon
Fruit) 2022, was chaired by Secretary,
Ministry of Agriculture & Farmers
Welfare, Government of India ?

(A) Delhi (B) Gandhinagar
(C) Chandigarh (D) Bengaluru

3k  fram  wEw  wATHE

(MOA&FW) 3t __ 3 @ &l
Fwa: PMFBY 3R @M shise e

AT F dHAh TEEd Y i & g

T FHET {9 W e R | -
The Ministry of Agriculture & Farmers
Welfare (MoA&FW) and

signed a MoU for providing technical
‘support to two government programs:
PMFBY & Kisan Credit Card Scheme.
(A) UNDP

(B) fawa s%/World Bank

(C) CGIAR

(D) 3T A IE T€1/None of these

e 10 I fmm #@ ‘wew
TR H BIEE 41 Hieet Hhi @ & fog
Prfufiad § @ ®9 @ Wi S W
Iqam R ST @ ?

Which of the following shortcut keys are l

used for *Search for a file or folder in |
File Explorer’ in Windows 10 operating l
system ? |
(A) Fl (B) F3

(C) F4 (D) F5 1'0

Loi.
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it st g A ik
Ol 8 e 0 T 1 9
wTeT I el AT

p) feell

(A) . ( .

o wa-fix (@) ¥ amean
In sixth-fifth century BCE, the urd l;h-
people referred to the Language used by
eople in east of the Indus as _

(A) Hindi (B) Hmdav;_ "
(C) Al-Hind (D) None of these

£ yafra qauail & AR, T3

(FrsrFTC 3 ST i HET Sl ¥

(A) e (B)

(C) wemfd (D) i
According to the popular traditions of
Vijayanagar, the Rayas (The rulers of
Vijayanagar) were called as .

(A) Prajapati (B) Ashwapati
(C) Meghpati (D) Narapati
frefifes § @ @ @ Re Afa =@
SR & G&0T | Tl ST T ol ?

(A) e i, Feaw m

(B) TiewaR Hf, Rrm Sk

(C) TSI HIGY, AT

(D) AT HRR, TTehreT <IeTg
Which of the following Shiva Temple
was not constructed under the patronage
of Chola Rulers ?

(A) Nataraja Temple, Chidambaram

(B) Gondeshwar Temple, Sinnar

(C) Palaivananathar Temple, Thanjavur

(D) Brihadeswara Temple, Gangaikonda
Cholapuram

s sfoer #, 3fe1 & S afife off, &
T S GEAT, S Saared & Fe
w1 wfaffae S ot | 2fife § v 7@
fepeana, @ wgaa
(A) &[T (B) wimaw
§C) afe (D) =

n ancient Hist
the harmika, :: S&oﬁ?ﬂ?ﬁetggui?udi :712?

represented the abode of the Gods.

Arisi i
A elcril%h tfrom the harmika was a mast

(A) Stupa

(C) Yashti (B) Jataka

(D) Chhatri
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In sixth century BCE, how many
Mahajanapadas were mentioned in Jain
and Buddhist texts ?

(A) Twelve (B) Sixteen

112. T 3Yfs §&h, del 6 a7ed anoft
+1 qUTHid “war w9 | e dfwal S

FEI A |
(A) 8 (B) @9
(C) e (D) 3mad

A modern version, the so-called “long
form” of the Periodic Table of the
elements. The horizontal rows are.called

(C) Twenty - (D) Twenty-four (A) Groixp (B) Batch
110. eE - 31w e diaed Hi e (C) Set (D) Period
TR 1905 ¥ Feamenry Hral # | %m%m*mﬁﬂmﬁﬁﬁﬁ?
| 3o & ! $hich f::laf%'l‘i i tion hold
il e 1 of the following equation holds
T 3 it e < forg <t g ot | ' trueasperOhm’sLaw?g i
3@ (A) TS UEARA TG (A) R=V+I (B) R=V/I
E4%  (B) e WA T 2 R=1/V (@) R=I*¥Y
©€) dITE Tmf. amgtﬁ.lsn%ﬁa’lgwﬁqaﬁmﬁm?
(D) TiaTel I e - Eg; :;rg;g
Servants of India Society was founded
by in 1905 to unite and train (C) I
(D) Wt pULI

Indians of different ethnicities and
religions in welfare work.

(A) Raja Rammohan Roy

(B) Lala Lajpat Rai

(C) C.RR.Das

(D) Gopal Krishna Gokhale

111.
- 2 | T e w1931 # W
o fearman e ?

(A) et - e T

(B) Tt - S 4

(C) it - feraferen tee

(D) et - AT e

The Civil Disobedience Movement was
called off in 1931 by Gandhiji after
which Pact with the British ?

(A) Gandhi - Irwin Pact

(B) Gandhi— Wavell Pact

(C) Gandhi- Linlithgow Pact
(D) Gandhi - Mountbatten Pact

ISt % @y fea wwgia & G, s |

Who led the revolt of 1857 at Kanpur ?
(A) Bahadur Shah

(B) Nana Sahib

(C) ShahMai

(D) Maulavi Ahmadulla Shah

Mmﬁ%m'mmmﬁm
BIAEER ?

(A) Thgen B) wi=

© (C) wEEEEEa (D) W

Which of the following is the smallest
bone in human body ?

(A) Scapula  (B) Stapes

(C) ' Coxal bones (D) Femur

W frefefad § @ S € oig T A0S T
' (A) RLE (B) WM

©€) tEhfem (D) THAWE T
‘ Which of the following metals is most
I ductile ?
I (A) Silver (B) Gold
| (C) Aluminium (D) None of these

QQ



5¥H

s g i g g |, @mﬁmﬁwm/ﬁwm
Frfeten @ fou @ v A | o
Srgmd 7 W O
() FAE (D) ¥
() et B) TR The highest tides in the world can be
© m (D) s foundin i
India’s Famous Golden Quadrilateral (A) India g) Russia
Super Highways doesn’t connect which © Canada (©) ;
of the following major cities ? 122, “aHl far T (I mﬁﬁ id
(A) Delhi (B) Hyderabad fra e ﬁmm%? ;
() Kolkata (D) Mumbai @) T (B)
© fvm (D) ¥

118, fr= 3 & foFm Yo & i@ %1 I g

119, 2020 $ Frié ¥ argam, Feferiea # 4

0.

B

wx
O}

QQ

e wfdfera e ¢ & for fFmr a2 7
(A) Fwaw B) I
(C) 3daa (D) gReH @

Which of the following type of Lens is
used to always get a diminished image ?

(A) Plain (B) Convex
(C) Concave (D) Transparent

frg T o WG ¥ HW A F T
31 ST /FET 8 7
(A) TEIH
(C) T

(B) IWIA
(D) feam

According to report of 2020, which of None of these
the following states has largest reserves/
resources of Copper Ore in India ? w e aiaﬁ % cfft ‘TFT
(A) Rajasthan  (B) Uttar Pradesh ! (AWW ' i
(©) Gujaat (D) Bihar | (C; agi? " EBD)) ;ﬁﬂm
frerferfign & A @i @ T i 4 % Tlhe Southﬁn; glan of the Eastern coastal
? plain is called the
R Afem | (A) Konkan gy
(A) &m (B) | () Malabar
D) FEUR (C) Coromande] :
) F@@H (D) | (D) Northem Circars los
Which of the following nuclear power ]
plants is located in Uttar Pradesh ? | ?hﬂawwﬂm SRS
(A) Kaiga (B) Narora | (A; N:;h;;?£108t latitude of Inda is
(C) Kalapakkam (D) Kakrapar | © 7N (B) 376N
12 (D) 82:;32']\] i
- |
] —

123.

“Tana River mangabey” (monkey) is
found in which of the following

countries ?
(A) New Zealand (B) Kenya

(C) SriLanka (D) Iran j
i v FR- e ! S @
s g 1 P 3 3 4 Ao
frg ?

(o) femier (B) EEAE
€ wEl (D) FHAPKT

The Vindhyan range is bound by the
Aravalli’s in North-West and by which
of the following ranges on the South ?
(A) Himalayan Range

(B) Purvanchal Range

( ) Satpura Range



.126.

128.

SR |
(A) TR &wat

129,

faftr =l W are el o %
(A) @i (B) aTgEW
© (D) =R

Vertica! distribution of different species
occupying different levels is called as
(A) Climax (B) Succession
(C) Pioneers (D) Stratification

w3 % oW fg@d € | 9 R
9T 4,000 - 7,000 HX H SR W4 # |
(A) U&™ A" (B) wWiAg
(C) whwm (D) HuTE A"

ya./ﬁw%rﬁaa § A S 91 gafi g IW
 wmARRER _

(A) THER Y& FHEAR

(B) SeT-TTel UEfl ATy

(C) T q&t AR

(D) WIHaTS! qEl AHIT

Which of the following bird sanctuary is

located in Uttar Pradesh ?

(A) Samaspur Bird Sanctuary

(B) Vedanthangal Bird Sanctuary

(C) Ghataprabha Bird Sanctuary
(D) Jaikwadi Bird Sanctuary

clouds look like cotton wool. | 13 ngﬁ £ fr= § & frg v agEeEd
They are generally formed at a height of ;
4,000 — 7,000 m. " //L SEERCE R
(A) Cirrus (B) Nimbus (A) gnwes  (B) WEANSA
(C) Stratus (D) Cumulus (C) wmamHsA (D) EIBEEN]

w @ jaen # e figat w
aTE % I I 9 | AT

qEdT
© AT
(D) 37 A IS T

The ratio between energy flow at
different points in a food chain is known
as :

(A) Ecological capacity

(B) Ecological efficiency

(C) Ecological assimilation

(D) None of these .

Wqﬁ@ﬁﬁ-—a‘amaﬁmﬁnﬁsl
g1
l

EIE
]

In which of the following layers of Earth,
is Atmospheric ozone layer mostly
concentrated in ?

(A) Troposphere (B) Mesosphere
(C) Stratosphere (D) Exosphere

132, Prefefigd § A 19 A1 FEEAG WG H
TaeT EARITE & W O @ § A
it T geterd R ? :
(A) TS TEEE (B) e AR
©) Reciwawlé (D) FHARETE

Which of the following Airport is India’s
first airport to be fully powered by
renewable energy ?

(A) Wayanad Airport

(B) Mumbai Airport

(C) Delhi Airport

QQ

(a) e s (D) None of these _
(B)  ifers e e Lgyﬁmﬁiﬁaﬂﬁﬁﬁwmﬁmﬁaéaﬁ
i3 1 B
. #aﬁqﬂmid of the aquatic} (A) T frem (B) I
gr:sygtl:n'? ?:S - l (€) U (D) Th™ :
(A) Upright Pyrami . Which of the following is not a Tiger
(B) Partial Upright Pyramid I reserve in India ? ,
(C) Inverted Pyramid | (A) Kaziranga (B) Kanhfa
(D) None of these | (C) Periyar (D) Dachigam

13




134. 7 & Fwfs 61 v 9 By R 3 @ | 138, ISFR-2021 % 7gan, Frefeiea # & fisg

R A R, FEe 2 | — geu § o &% (dEn) § e oy
(A) Frd (B) %R TR ? '

(C) TEwm (D) sAd@ (A) TS (B) dfierTg

The layer of vegetation in a forest which ©) e (D) 3Ty W

is just below the understorey, is called Which one of the following states has

g e : : increase in forest
(A) Canopy (B) Shrub Layer ~ witnessed maximum_incr
(C) HerbLayer (D) Forest Floor cover (al'eal“"sg)' as per ISFR-2021?
; . (A) Nagalan i
i PN A | (B) TamilNedu  Esg
fere T R (C) Mizoram . o
(A) a3 (D) Andhra Pradesh
(B) wiftrter Ugta 3am :
(©) Wi g vam 139; ZRi-af¥eft o, whemom, ToRAm %
(D) THAFETE L B i -yrsh &1 A Frg YR F S § 7
Which of the following is one of the | (A) et 3R A[W T
zix;imfll Park spegﬁgallylﬁ]))r I}(ed Pandas ? (B) yadH & '
avegaon National Par Pt §
(B) Papikonda National Park © $ -
(C) Khangchendzonga National-Park (D) IwEHfEHia HeEEr a9
(D) None of these Which type of forest is in semi-arid areas

136 Frfrfiea # 3 9 v = o we1 i of South-West Punjab, Haryana, Rajasthan ?
=/36/ TR 7 (A) Littoral and Swamp forests

A (B) Montane forests
(A) W‘lmm ' (C) Tropical Thorn forests
(B) %ﬁml:@'ﬂm (D) Tropical Evergreen forest
(C) T wide v 3am "
(D) frga s | |J0I, e, e, g, wgon, st
Which of the following is the larges e, F9 IR S anfe &l
National Park in India ? e yefert € |
(A) Sundarbans National Park oy
(B) Hemis National Park A (A) 35”5';'2“,‘“.“, "."iq'd'a:‘
(C) . Jim Corbett National Park ' (B) mmaﬂ 2
(D) Gir National Park ' (C) 3urpfeatiy WEER 3l 3
137. ¥ & H, wita Y few 3w & ary S $ HGTEER 5
(reintroduction) & fow wH (D) & TR
E %m - mé,?eﬁ Teak, = Sal, Shisham, Hyrra Mahua,
(A) (B) Amla, Semul, Kusum ang Sa;ndalwood
(C) =m (D) =rfifern : etc. are the maj

Recently, India signed an MoU with

(A) Tropical
which country for the reintroduction of

|
| e
: (B) Tropical o iaos Forests
|
|
4

Thorn Forests
cheetah ? C - S ;
(A) Kenya (B) Australia () Tropical Evergreen and Semi
C) Ghana (D) Namibia Evergreen Forests
( : (D) Montane F orests

QQ 1
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16

7/ Cs"@"@:‘ .;.9 =6

[}

142 IE'_‘:"%"E“ ATfeTeh! H H AT A HIAT : | 144, TES 1 o P gam a7 .@ -
Find the missing number in the following %
table : HYT : W‘J
5
- 1 L Uge Sdum # s uf & 25 =€ B A
16 [109] 2. 2215319 17| 2 | 48 2 ,q,_q.-‘h
6 15 13
b, @ 7 ®) 25 IL 1964 & 321 8¢ Uget & WiE, 3rat Wi
,@ (©) 49 (D) 129 A35q@oRE | |
1 Q) =il H g H_16 T w I R (A) e HYF 1 T4 B, Fafh Y II
\ 6%@,@@#@@%3@%“ AT TR |
| 3 T ot | 93 =AfE A FAE AP R 7
The ages of two persons differ by (B) 3Thell HYA 11 T4IH 8, Fafeh e |
16 years. 6 years ago, the elder one was ]
3 times as old as the younger one. What AR AR |
is the present age of the elder person ?
TRFEI AR TR N AR |
(A) 30 (B) 25 © 8 &
(€) 20 (D) 15 P (D) YA | 3 HYA 11 Sl W § |
(A
W : i HE T E | @ In which year was Rahul born ?
5m
39 e d | E& Statements :
fremd: 1. wftcimwag > '
10 @saﬂ‘a?ﬂai | I.  Rahul at hl?resclg‘ is 25 years
(A) et s | 'Y younger to his mother.
(B) Faa i 11 ng | I Rahul'? brother, who was born i.n
©) T at frssd 1 ofk 7 @ frssd 10 1964, is 35 years younger to his
Wm% | mother.
(D) fswd 1 3R 11 G T F 8 | (A) Statement I alone is sufficient
Some mirrors are red. ’ sufficient.
Conclusions : | (B) Statement II alone is sufficient
I. All mirrors are glasses. l ¢ .
while Statement 1 alone is not
: II. Some glasses are red. I i
i (A) Only conclusion I follows. | N cint.
; (B) Only conclusion II follows. | (C) Neither Statement I nor Statement
. (C) Neither  conclusion I  nor I I is sufficient.
: conclusion II follows. '
3 (D) Both conclusion I and conclusion (D) Both Statement I and Statement 1I
§ I1 follow. ! . are sufficient.
- H 15 QQ
E ut e o o S e d ‘



y.5 .

fraffaa ot &1 aemT 5t ok Wi %
IWE | (V. 145-149) -

Study the following table and answer the
questions. (Q. 145-149)

TF wen ¥ §pa 3R F § W o &
YR T 100 BT ST AT |
Classification of 100 students based on the

marks obtained by them in Sanskrit and
Computer in an Examination.

T/
Subject | FW/ | FW/ | IR/ | SR/ | SR/

50 3 & 37% /Marks out of 50

40 3R 30 30K |20 30|10 3iK| 0 3k

40 and | 30 and |20 and {10 and| 0 and
above | above | above | above | above

(Aggregate)l

! / 8 31 81 91. | 100
Sanskrit | — — — G
/ S 20 67 80 100
Computer
sEa
@D/ | 10| 25 | 75 | 85 | 100
Average '

145. S & He-3AT6 3B $ T F 30 AN |

QQ

Fot frerat e~ 37l & &9 4 30 &
a1y I BEl 6 G F @9 H AR
fpa e ? |

What is the difference between thel

number of students passed with 30 as | 149,

cut-off marks in Computer and those
passed with 30 as cut-off marks ml

aggrcgatc?
A) 3
©) 5

(B) 4
(D) 6 |
16

147.

148.

146. afe a8 7 & 5 &9 @ 23 B HYH

® s G & foe a4, @ we ﬁ
qrar % fore S # gEan A 3
fra dm A g ?

If it is known that at least 23 students
were eligible for a Symposiurp on
Computer, then the minimum qualifying

marks in Computer for eligibility to
Symposium would lie in the range

(A) 40-45

(B) 30-40 o

(C) 20-30 o

(D) 20 @ H=/Below 20

IR wepa # 3= I & fow @ pa d

F9 Y H 60% IiH AEIH 8, A fh
B TEhd 8 I eI & forg ur g 7

If at least 60% marks in Sanskrit are

- required for pursuing higher studies in

Sanskrit, then how many students will be
eligible to pursue higher studies in

- Sanskrit ?

(A) 8l (B) 31

© 34 (D) 91

F et &1 A F9 40% 31F W5 FQ
el i g §, FY F 9 A w7 60%
3 STH & 91 BT s AT 7 SR
T

The percentage of number of students
getting at least 60% marks in Computer
over those getting at least 40% marks in
aggregate, is approximately

(A) 21% (B) 27%

I e (D) 38%

T e 40% J #w ai ww wd A
BT 6 TETT B

Th:: number' of students scoring less than
40% marks in aggregate is

(A) 13 B) 19

c} 20 (D) 25



Yo |

213

150 A T HT U B g, = & T
s % fere g den 9 i -

Find the missing number for below given
series following the same logic :

6, 12, 30, 84, 246, 732, 2190, (?)
(A) 6320 (B) 4532
(C) 6564 (D) 5873

7 —
'S i T

e W T AR SR T wW g
w1 3 e, “aaaﬁmasa—éasﬁmaﬁ
TEel” ﬂ%mqﬁmﬁﬁq%?

(A) g3 (B) =i
(C) =& (D) T8 | HI3 &

Pointing to a lady on the platform,
Manisha said, “She is the sister of the
father of my mother’s son”. Who is the
lady to Manisha ?

(A) Aunt
(C) Sister

< R 3 vam w1 i 379 == W o it
Th % 7% 598 e | B, am |
fravsRaERae 7 i

(A) =t (B)
(C) w&d (D) Tl

Priya introduced Shyam as the son of the
daughter of the father of her uncle. How

e 1

(B) Mother
(D). None of these

;& Priya is related to Shyam ?
" (A) Mother (B) Daughter
(C) Sister (D) Grandmother
/15’3/.4 BF G CAR T RIBCH
fra vergaia? 7
(A) foar (B)
©) W (D) =T

A is son of B, C is sister of A. How B is
related to C ?

(A) Father (B) Son
' (C) Brother (D) Uncle
H 1
m A

o

O =y J"b!’

&6./

|
s

|
|
|
|
|
|
|
!
7

. (C)

2/90
Lo S

X3
fafea wmar § TRUE 1 1759,

1 4384, CHAIN I 82630 & @ |

wifea e st & | 7@, I HI A

KITCHE %; foru ygen 3i @1 & ?

ﬂ'l ch certain language TRUE is coded as
1759, KICK is coded as 4384, CHAIN is
coded as 82630. Now, what will be the
1** digit for KITCHEN in the same code ?

TRUE 32— {57
2018219

|

(A) 9 (B) 2
© 8 D) 4 k.
~aft ALPHA = 101112116, 108101, -

BETA &1 SIS &1 81 71 ?m i

If ALPHA = 101.112.116.108.101, what
will be the code for BETA ? D
(A) 102.105.123.101 25 ’
‘(B) 102.105.121.101

102.105.120.101_ %é?

(D) 102.105.119.101

TuT e %1 AFE F gL, D T G
7 | T T HIfT :

Find the missing number in given series

following the same pattern :

19, 200, 203, 208, 215, 226,239, (%)

(A) 2241 3 55(B)1) 2465 7
(C) 256 (D) 260
~ Frefela @ 3 qu HE T HfT :
Flnd thc missing number in the following
- serj 2 : 1S P\HTIOH
16, 34, 19,40, 22,
(A) Zz ®) 32 TS lé‘va’(
(€) 352 (D) 48 ' .

w Bftw W ww §, IR W

REGISTRATION %! TSIGERNOITAR
¥ w9 § wifea fFn S 8, @ 39 ww A
CAMPFIRE Y& %! & shited frasmem ¢

In a certain code language, if the word
REGISTRATION is coded as
TSIGERNOITAR, then how is the word
CAMPFIRE coded in that language ?

(A) MACPRIFE (B) _PMACERIF
(C) ERIFPMAC (D) FIRECAMP

B <\? ‘ '}QWPF/RE Q0
\
BA" Prae




59 TSl QU F & Bt R | 1:40 T w0
1 TS o1 T Bt B (Renh )

A clock is started at noon. By the time

1:40, the hour hand has turned through
(in degrees) :

(A) 98° (B) 47°
(C) 69° (D) 50°

160,-8:45 =31, wr<t i 6 <hl g3 afk fime 61 8
& o9 =99 S w2
(A) 10v% feft (B) 9v feifi
(C) 7w e (D) 8w feh

At 8:45, angle formed between the hour
hand and the minute hand of a clock is

(A)" 10% degree (B) 9% degree

(C) 7% degree (D) 8! degree
161712 |7, 2008 W1 Woar o1 | 13 91, 2009

HIFAEH B AR ?

(A). TATER (B) IFER

(C) ¥mar (D) TRraR

-~

&

22" of the week lies on March 13, 2009 ?
(A) Tuesday (B) Friday

(C) Monday

(D) Thursday@
/3R 3T gUaR &, 45 feAi &
(A) wfHER (B) -2
(C) WTEaR (D) e
If today is Wednesdgg, \fic® 45 “lgys it

)

s—S’
k/l 6

o>

oL
164. TH Y =9 # % 5,000 @ f6d 1 98 2 250
FT B HE @@, T 1,800 FH FEHE,
% 2000 6 i 31t UL W T 950 @
T & | Rraret w feaan sfawa @ e

™ ?

Ratan spent ¥ 5,000 in the market. He
brought photo frame of ¥ 250, Helmet of
T 1800, books of ¥ 2,000 and clothes of
¥ 950. How much percentage of money
spent on books ?
(A) 80%

(C) 40%

0

(B),

O™

T ol gus et 2 | 59 v

E HH
!
March 12, 2008 was Sunday. What day

srmﬁwwwﬂ%,?hééﬁajﬁm:ﬁ
i s kD
(A) (B) 320 ferft

1) 0 feft (D) 290 feft

accurate clock shows 7 o’clock in

¢ morning. Through how many degrees

ill the hour hand rotate when the clock
shows 7 o’clock in the evening ?

(A) 360 degree (B) 320 degree
(C) 280degree (D) 290 degree

Wﬁw%ﬁf}%&m% atfass R )
T =1

W 3 S & e wftmra
27 a;‘ . z Aoy jwo
will be - ! =i 1401t g
(A) Saturday (B)* Sunday | Ravi’s salary is 40% more than Sachin’s
(C) Tuesda D) Thursday l salary. How much percent Sachin’s
I <. : e, A3 TR ! salary is less than Ravi’s salary ?
<= ) o fem \ l (A) 23.08% (B) 28.57% = i
. _ ’ (C) 37.5% (D) 43.8%
% (A) WITEER (B) aam | i ?' @
’@ (C) FUaw (D) HHER 1 | 167+ 1600 1 35 siferera 3 3 T e @),
If 6 April is on Tuesday, what day will - Am& T s
35 percent of 1600 i
be there on 3 May ? ‘ 'S s
(A) Tuesday (B) Sunday (A) 640 }: (B) 560 @ i
(C) Wednesday (D) Monday 1|8 (C©) 5.6 S — (D) 5600
QQ (/u_vn&w—o L6 A — H
£ L o
" N
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168. T ATt 39w = fRufa & s 3 7
forft = R, T ond e 8 forft v
2, TR & o e 7 foorft v 8, R R
T g 3 forrft e & | 9= s W
feufa & fparft R (Rerfi ) 7

A person from home position moves
7 km towards north, then turns right and
moves 8 km, again turns right and moves
7 km, again turns right and moves 3 km.
How far a person is from home position

(in km) ?

(A) 15 _ ;.hf |
B) 5 2 r‘ —~
©) 11 el

.
=
|:‘
"
L'
p
:
.

(D) T ®E =r€f/None of these
'2/169. 1,2,3, 5,7 % 3gd 71 $ifa |

Find the average of 1, 2, 3, 5, 7. S El 75 = g &1, 10 Forrft g <t 3R T g,
(A) 3.6 (B) 3 a1t ggar @ 3k 12 et = @, fi
©) 45 (D) 4 &g 3R gl @ 3 5 foprft e R
176, il (2 ) | 3 sk a5, St A e R AN ¢
T A 3 5 B H1 AT 8, 41 I =1 (A) (B) IwR-ufeam
g ? ~C) ufvam (D) ¥ & HIS TE

The average of ten numbers is 29. If each
number is decreased by 3, what will be
the new average ?

(A) 36 B) 26
©) 24 ©) 21
§ orl i w Fa  sha g 30 99 |

3 | af2 e B o B e = for |
m,a’raﬁmzaﬁﬁm% lﬁmasaﬁl
g e & I | |
The average age of a class of 15 students
is 30 years. If the age of the teacher be !
[g,immcluded then the average increases by 2

; E&years Find the age of the teacher in |
years.

(A) 59 (B) 55
(C) 62 (D) 60
—@

20 284 6
5 729 |

('J—U

Trer féig X & & 1 3R S 2, 3R 4
HHHI T FTHEA JS01 & IR T S b
o1e HY SordT 8, 379 SuHT 4@ fha fem

27 ‘T;%ﬁn

A) T
(C) W (D) ¥ H HI3 A

Gopal goes towards East from point X,
and turns anticlockwise at 4 right angles
and moves straight after each turn, in
which direction he is facing now ?'

East (B) West
(C 9_North (D) None of these

Y\

e

—&

%
3

3 7%, ©alR A, w & Mem A 7E a1
£ 1 7% u, 12 forft o Y 37k e B, T
STt Td 3 e @ 3 5 foeft S ?

Two trucks, A and B, start from the same
warehouse. Truck A goes 12 km north,
then turns to its left and goes 5 km.
Meanwhile truck B goes 10 km east, then
turns left and moves 12 km, then turns to
its left and goes 5 km. Now, in which
direction is truck A with respectto B ? -

(A) East (B) North-West ’
(C) West (D) ‘None of these
r$X3o0 = Yso 3(6
174 R R : lex3. = 5 2 )%
(A) @it (B) Im ,_‘ié'_:ié-_
) & ®) ¥ = —
Find the odd one out : :
(A) Cabbage (B) Mango ( 3
(C) Apple (D) Banana .o _‘,‘5;
| [606X35‘ = 86Q QQ\;/' |
|




?ﬁwﬁgﬁ: 2 syt @,@,@w,gﬁhﬁ,
Choose the odd one out : Wl . @ ﬁ-@—@ { o
> 2 2 6 o qE w48 | Io, 4
@ 1255 @ 131 2 & e o i H A A e T
©. 216 5 (D) 1726 w3 | v, R S a4 3§ R

B

. _ T e, T & 914 T
176. W=t &% IR e feu e &, i A =i | ;?,mmam%
& W FHH o8 § Fefd & 3 T S <t 5 21 Tl b7 i 7 A Fovem 1w

T IO € | 3 W &I qar &g St IR ST TR 7 3

=

s 5
AT TEH TEUAR | e . DfAa
o I S T (B) I
IR Hih! B |
b '\—31/3;&: b , (C) faem (D) T A HIE T
: B) ufae Lo g <2
: g, i — . Palak, Quincy, Ramesh, Shyam, Timir,
&“’ ! (C) wm3fret iR =R m Umang, Vandan and Willa are sitting
N E%i around a circular table facing the centre
(D) ¥ 3R g of the table. Palak sits third to the right

of Willa and third to the left of Quincy.
Shyam sits second to the right of Timir.
Vandan sits second to-the left of Ramesh. .
Timir is not neighbour of Quincy while
Umang is neither a neighbour of Timir

Four pairs of words are given, out of
which the words in three pairs are related
in same way and words in one pair are
different. Find out that pair which is

differently related. nor of Willa. Who is sitting to the -
(A) Tea and Coffee ~ immediate right of Quincy ?

(B) PencilandPen  p4p — & ¢o (A) Vandan (B) Umang

(C) Cycleand Scooter (& — ¥ ° (©) Willa (D) None of these
(D) Shirt and Tailor /?;»_ |

' / A Fpen felt wm W 2 RAi 8 g e
177. afk A 3k B frer forelt w5/ 1 15 | m%,m%Bmaﬁﬁ?ﬁ‘gw

3 q T Fehd € 31 B 3rhen 20 Tt F q@ U Hhdl ® | AR 3 38 [0 I F e w
FEHM R, WA Fobo T HE B oA | HFHFQ §, A 26,000 F ot wwrh
o1 & q e HEA R 7 A8, A FTER %120% Fa1 20m 7
If A and B together can complete a piece l A filone can finish a work in 2 days,
of work in 15 days and B alone in 20 while B alone can finish it in 3 days. If
days, then in how many days can A alone they work together to finish it, then out
complete the work ? Sfe‘;’(‘;} w?ies of ¥ 6,000, what will be

- °oOL A’ ;s '

%" Gl e | (A) 2720 -

(% 40 (D) 30 l (B) X350 28

a0 (=4 ) © 22 ot @



180.-TIEeT, g, e, v, e iR ol e | 1
qﬁﬁﬁﬂﬁaﬂtg@m%§|m

- R o g A € | g SR AgE R |

R, Tget % 9 918 431 R | wHw & o
fra =i & 7

Rahul, Mehul, Priya, Payal, Dhyani and
Dharmi are sitting in a row facing north.
Dhyani and Dharmi are in the centre.
Rahul and Mehul are at the ends. Priya is
sitting to the immediate left of Rahul.
How many persons are there to the right”
of Payal 7

A) 1 (B) 4 ven
() 3 D) 2 Egﬁ
181. yoan Il 1 9 § WY IW 4
Hiergal i i A IEE] T JT6
- € 10% agi A e J W T forn 3k

mmmdlmmﬁﬁ-ﬁa@
ANGLO)

Manish ranked 'sixteenth from the top
and twenty-ninth‘.from the bottom among
those who passed an examination. Six
boys did not participate in the
examination and five failed in it. How

m L
o)
Y
11
Ril
52

~,

="

g
]

7 ,7L
/ { { 1l (*
/o3 T =gt 1 ofuTen % A wH
Arrange the given words in Alphabetical
Order :

1. Head— y A
3. Hammer

“1 "'

)
4

/

~Hold—

5. Hulk

(A) 31425
6 45132
JTER ATHIG TR 7

What is the next figure ?

SISV

Sa=y

4B (D)

1w-ﬁaﬂwmmﬁamm%
o ser iR wway AR

(A) watERo (B) fareH

(C) sfve™ (D) EWH

Histology is related to Tissues in the
same way as Ecology is related to
(A) Environment (B) Fossils

(B) 35412
(D) 45312

K

|

;

many boys were there in the class ? (C) History (D) Hormones
(A) 40 1(B) 44 \Hsﬁvﬁﬁmmwm‘i:
(C) 50 (D) 55 Choose the correct option :
. - 181157 ::24:7
Sgomerwmaniand puade|  a3e X3 ®) 6

= W &1 ? 3R Q ¥ & iad WH | W:}L (D) 78 g
2 1aR P QP TR TS §, A | -
: | CARWRIS . g ) ——
HfraaTes e ? . iy {JM/ m:aaj\ta::ﬁa M l;, +
Some boys are sitting|in a row. P 1s ﬁ%
sitting fourteenth from the left and Q is | (A) HR (B) T
seventh from the right. If there are four ©) EIEE]
boys between P and Q, then how many | Complete the Analogy
boys are there in the row ? | Museum: Curator :: Prison : (?)
(A) 19 (B) 21 | (A) Manager  (B) Monitor

A 3 > D) 25 I (C) Warden (D) Jailor

H ¥ . 21 0 QQ
6006 : . ’\_—_’__’ T g
_ O e " P TRA
P %,

|
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4

‘ > LN | ~1$
188, =T faredt & @ Tt A A oA |91 AR pewiwrds 4SS0 ’;H" |
e T I SR T A | Qamtmex US4 s
Select a suitable figure from the four ReufaT e + |35
alternatives that would complete the Seufard - }(9__ \ \1"}
figure matrix. 4 . PR\
Be | ! W45Q30P 10R 128 15 .
If Pdenotes+t ~ \-3 2
Q denotes x < :
R denotes + :
. S denotes — ,
LE ] | 1] Then what is the value of 45 Q30 P 10R
‘ | " e 125157
' (A) 160 (B) 202
(C) 60 (D) 132
| l 192. 39 ey =1 =99 H, S g 7T HASH 5
+ o e & w1 firsre-ge @ |
| Choose the alternative which closely
( Agl) 1 @ O ®) (42) resembles the mirror image of the given
combination. .
= 2 () 4 NONVERBAL REA|AT
189, 9% fasew I, ot few o wiem &t w6 AA) ATSIIAGHAVUOU
o g b vdd TVI‘E‘I%Z};IE(E):XI '
Choose the alternative which closely (©) : |
resembles the water image of the given (D) AdAJI _&wfﬂa VHUOU ’
combination. yg/aﬁ E &1 a1ef ‘_’.‘.’ja F &1 379 ¢ %’ G ® ..
GR98AP76ES e aif‘+’%3ﬁtH3§Ia?i‘_'%,?h
(A) CKEo8VbICERZ 8G36F6H6E3=2
CK68VBAIER If E derfotes ‘x”.F denotes ‘+", G genotes
(C) CYdBVDIJEZ + and H denotes =, then g4 2p = £X3
5 CHotabaeEs CE A
190. 39 faecq &1 994 =X, 1 W@ HN F dedf © 13 - (D) 5 :
/?f&qnqﬁmw%aﬁmuﬁﬁt?ﬁmllw #, wfteror § 9 fgl ) amuw
freraT-Seran & | 4 wee et T R | Wl Y v R
Choose the alternative which closek | Wﬁﬁ'ﬂﬁﬂﬁ@ﬁ L |
resembles the mirror image of the given 16+4+2-21x7=21
combination about line HN. (A) -3K (B) xa3m+
©) +38-4 (D) x 3R+

]

© 5 O

N
2
PPPPPP : bbd

(A) (B)
Qo 2y 6ty
£/

GPR ——

In the following, two signs in the
equation have been interchanged. Find

out those two signs to make the equation
correct.

£4+2-21x7=21
)({\) Nods (B) xand+
(C) +and— s
(D) xand-=

.. [6+Y=20 + 21 x%

le+y - 3‘;@7

H




’

196.

197.

i

H

AR A0 E | AR A T R AT | 198, T8l o v B Fhw W aﬁrﬂam @
mﬁ,?ﬁmmﬁaﬁlm% ? TR
There are 30 people in a group. If all Here are some words translated from an
shake hands with one another, how many artiﬁcia} lang}lage ¥ | v
handshakes are possible ? migenlasan means cupboard ‘ ((\Ar\
(A) 870 (B) 435 lasanpoen means boardwalk :
b P _— cuopdansa means pullman
©) 30! D) t+1 foret wreg &1 31 “walkway“?lm% ? ;
Which word could mean “wa .
R Sl i g A A T 8, @ (A)lc poenmigen Jk":y 5)“”[
W=, LOGARITHMS % &gl & fee &) Sl q el
3-31er ATt areiqu A e 378 & =g = (C) poenforc ' I ( /ﬁ
AMEFAE 7 (D) Sﬁﬁiﬁi:@fmone ofthcsc \1 /-A'
How many 3-letter words with or y T HietEre wid e 4 5 forft/ger Tﬂ%f
without meaning, can be formed out of Aaa gHhdl & | TE TS F U IHHA 90
the letters of the word, LOGARITHMS, feft &Y 9T = 2 ﬁtm g
g s . < ;
if repetition of letters is not allowed ? T Yol 2 | T F T m T
(A) 720 W :
(B) 420 E% (a) i/ (B) 3.5 ReR/EE
(C) 5040 () 2f@f/gm (D) 4 Tl g
(D) 'Sﬂﬁ | a»’ré &1/None of these A motorboat can travel at 5 km/hr in still
water. It travelled 90 km downstream in
oA ST A ; " a river and then returned, taking
" . w altogether 100 hours. Find the rate of
3R A= fon Ty I G | T/ FO flow of the river. _
76G, I VT ¥ AT & | (A) 3km/r (B) 3.5 km/hr .
(C) 2km/r (D) 4 km/hr
Study the follqwing mformanon : .
carefully and answer the question given ; 200. ﬁaaﬁ,mémaﬁ 3R Porepior e 1
below. Here are some of the words Count possible square and triangle from
translated from an artificial language : | below given figurg :
r&ztuver means big caf ’ /6 +Hyx2L —24—-3
sleegeen means lion eat ( 4 + g
peetuver means raging cat > 3
sleepeet means lion raging ¥ "37

fig yree 1 7Y raging 2 7

Which word means raging ?

T e

(A) 26 , s/ 2 triangles, 5 squares
B) 28 B, 6 /28 triangles, 6 squares .

(A) uver (B) rmxzt (C) 26 aﬁ'ﬂ, 6 /26 triangles, 6 squares
(C) geen (D) peet (D) TR aﬁé Fgi/None of these 3
2. 23 (6~ 2) x> Q0
- % :ZQL \-

———

33— 31+

ealt
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